Two Points Determine an Exponential Function I
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‘The araph of 2 function of the form f () = ab® is shown below, Find the values of a and b.
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‘Solution: Two Points Determine an Exponential Function | first solution

The point (0,2) is onthe graph, so the equation should be satisfied by z = 0'and y = 2. This gives
2=ab’ Because I’ =1weget2 =a.

Now setting a = 2 and substiuting z = 2,y = & we get

= b'mi%:b

‘Solution: Two Points Determine an Exponential Function |, second solution

The valus ofthe functon decreases from 210 & by muliplying 2 wice byb.

b &

_lop. lp 1
2xbxb=g W= S¥=3 5

The base, b, must be positive sob =

Substiuting the point (0,2) velds

505w =2(4)"
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